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(3) A
Class — 10th (SAT)

Scholastic Aptitude Test

Questions : 100 Max. Marks : 100 Time : 2 Hours
1. Headquarter of UNESCO is at ? 1. W AR ACISE FEl WE ?
(1) Geneva (1) SEEI
(2) Rome 2) ™
(3) Paris (3) I™
(4) London (4) o<
2. How many valence electrons are 2. Cl” 3T # fpae S ol g7

present in C/ ™ ion ?

1) 5 1) 5
(2 6 (2) 6
3 7 (3 7
(4 8 4) 8
3. Blood cells are manufactured in 3. BNl TR HIREBA F T e A
our : B B
(1) Bone marrow (1) AR HqosT
(2) Liver 2) =%
(3) Spleen (3) wier (feree)
(4) Pancreas (4) ST
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4.

If a=(sinf—cos0)*, b=sin® 0+

c0s0 and c¢=(sin®+ cos0)?, then

the value of +/3a+4b+6c¢c lies

between :

(1) 2and 3
(2) 3and 4
(3) 4and 5

(4) 5and 6

Which of the following statements
are correct in relation to liberal

Nationalism in 19th C. Europe ?

I Freedom for the individual

and equality of all before the

law.
II Government by concent of all.

ITI End

privileges of clergy.

of autocracy and the

IV Equal political rights for
women and non - propertied
men.

1) LILIV

(@) I 1II, I11

(3) 11, II1, IV
(4) 1,111, IV
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(4)

4. T

a=(sin®-cos0)*, b=sin®0+
cos®® ST c=(sinO+cosO)? B,
V3a+4b+6c FM H T & d=
2

(1) 23R 3

2) 334

(3) 43R5

(4) 536

1981 gl & U9 § FER oA &
e § %N A YT @@ 8 7

I & & o e R & &
que] gl S |

II 9% deqid § a1 9 |

Il gy @& X Jedal &
faQronfersBral t T |

IV #eeneti 9 HuRfeeE ges @l
TN oIS ST |

1) LIL IV
@ LI 11
(3) 1L, IIL, IV
@) L IIL IV



6. Maintaining the proper amount of

water and proper ionic balance in

the body is named as :
(1) Homeostasis

(2) Osmoregulation
(3) Excretion

(4) Nutrition

. A 10 kg box is suspended from a

beam in three ways as shown in
figure. In which case, tension in

string is maximum ?

120%

7 7

(6)) (ii) (iii) @iv)
) i @) i

N

(3) iii (4) iii & iv both

= a++/3b,

3
If
2841043 —\7-443

Where a and b are integers, then

the value of V5a+12b 1is:
(1) 4 @) 3
3) V11 (4) V13
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(5)

. TR 8
28 +410V3 —7- 443

A

IR | S @en § a9 S e
§ EE Fger P Fel Sl ©

(1) BFERRE

(2) AR

(3) THHIT (e @)

(4) FEIH (o)

10 kg & TF 9 H TH % q
FRER O a0& § dehEr T ¢ |
=9 § fp Rafd 4 S dE
AfeepTH Brm 7

120°

7 1

() (i) (iif) (iv)

) i @) ii

(3) iii (4) iii T iv I

:a+\/§b

%, Sl a o b Tﬁ'ﬁE %, ar
Jha+12b & HF B :

1) 4

3) J11

@) 3

4) V13
P.T.O.



9. Element M forms a chloride with

10.

11.

the formula MCI3. Element M
would most likely in the same

group of periodic table as :

1) Si (2) Al

(3) Mg (4) Na
Which of the following is not a

part of human hind brain ?
(1) Crura cerebri

(2) Medulla oblongata

(3) Pons varoli

(4) Cerebellum

Which of the following statement
does not match the Nazi views on

women ?

(1) Women are radically different

from men.

(2) Women must become good
mothers and rear pure blooded

‘Aryan’ children.

(3) Women should be

equal rights to men.

entitled

(4) Women must produce more

children.
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10.

11.

dd M, MCls g3 aiel 0F FRiEe
ST 21 oeTEd Al ¥ g8 a9 M
q9aq: [0 qYE & A e ?

1) Si (2) Al

(3) Mg (4) Na

Mg ARk & Ud e H e A 9
P TH AT 787 & |

(1) FT TR

(2) U AT

(3) U TS

(4) TOETH

frefafad & @ ®I9 @1 $F, qieaet

® g) H Ao fEne 9 9d SRl

grar ?

(1) feemd gesi & U f A
g1

(2) dieemelt @ oSl HOW  §=e
e JAT Y- F A T
T AA-IAT BT M |

(3) Hieemetl I g&ul & THM AR
e =nfeu |

(4) gfeement # SItEmiaE T== U
F AR |



12.

13.

What model of government did

Montesquieu propose in his book

‘A Spirit of Laws’ ?

(1) To refute the doctorine of the
divine and absolute rights of
the monarch.

(2) A government based on the
social contract between people
and their representatives.

(3) Division of powers within the
between  the
legislative, the executive and

government

the judiciary.
(4)

Concentration of all the powers
in the hands of a monarch and

his group of loyal people.

Read the following statements.

Statement - I : Plaster of Paris is
stored in moisture proof containers.

Statement - II : Plaster of Paris on
reaction with water changes into a
hard solid gypsum.

Select the correct answer from
the options given below :

(1) Statement - I is true,
Statement - II is false.

(2) Statement - I 1is false,
Statement - II is true.

(3) Both Statements are true and
Statement - II provides
explanation to Statement - I
Both Statements are true but
Statement - II does not provide
explanation to Statement - 1.

(4)
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12.

13.

A

HieEr 4 T g T RaRE o

T | TR & g @eq P uEad

forar ?

(1) T’ H A A GAgA B
TR T A |

(2) AFR& T I U ® A
qEINTE 98 W oTaRd
TR |

(3) TN & T Jenf~eh, HETTH
T4 SEE & S S @6
EEGIE

(4) AEIME qAT D @HIERT D

T & el § @ AfREl @
HEIHTT |

frfeiad el @l dfe |

F - 1 : @R % WG H T
N g9 F @ oI 8

FE - II : e} o U 9 9
TR P FOX 3 TEd H 98
ST 2 |
I Ru T fomes § 9 @a SO}
e

(1) 9 - 1 T8 8, & - 11 T & |

(2) F9 - 1 T 7, F - I T& 2|

(3) TN HF el § AR FUT - I
F - 11 % A &Yl 2|

(4) T FF T E W B - 11
FIT - 1 & I e BT 2|

P.T.O.



14.

15.

Organs which look different and
perform different functions but
have similar basic structure and

origin are called :

(1) Analogous organs
(2) Homologous organs
(3) Similar organs

(4) Dissimilar organs

Two organic compounds ‘X’ and Y’
react with sodium metal and both
produce same gas ‘A’. With sodium
hydrogen carbonate only compound
Y’ reacts to produce gas ‘B’ identify
X,Y,Aand B :

1) X = CH, Y = C,H,OH
A = CO, B=H,

2) X = C,H,0H Y = CH,COOH
A=H, B=CO,

(3) X = CH,0H Y = C,H.OH

A = H, B=CO,

(4) X = CH,COOH Y = HCOOH
A=CO0, B=H,
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14.

15.

W o o o REw 39 2 d
AAT-TT B FIA © Al I
@ A d I TF ol B,
T & -

(1) TR ST

(2) EHIRITE ST

(3) TH S AT

(4) = &

q P AE X AR Y dfeTm
qIg & I AR B Th & T
‘A T E | GfeTY EEgeM FEiHe
T Y daq Y A SR Hea
M I Ba 21X, Y, A X B
Pl e

1) X = C,H, Y = C,H,OH
A = CO, B=H,

) X = C,H,0OH Y = CH,COOH
A=H, B=CO,

(3) X = CH,0H Y = C,H.OH

A = H, B=CO,

(4) X = CH,COOH Y = HCOOH
A=CO0, B=H,



16.

17.

18.

How many numbers lie between
100 and 400 which when divided
by 9 leave a remainder 6, and
when divided by 21,

leave a

remainder 12 ?
1 3 (2) 4

3) 5 4) 6

What did freedom mean for the
plantation workers of Assam ?

(1) Self Government
(2) Freedom from Zamindars
(3) Fare labour

(4) Right to move freely in and out
of the plantations

If a, b and c are integers such that
(Q/Z+§/§—2)(%+§/%+c): 20,

then which one of the following is

true?

(1) a+b-c=10
2) a—b+c=10
3) a+b=2c

(4 a+b+c=16
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16.

17.

18.

A

100 X 400 % I Tl fpa
Tet ¥, BE 9 @ 91T 3 T AT
6 STl & A 21 § AFT 3 T AT
12 ST & ?

1) 3 (2) 4

3) 5 4) 6

HHH & ATl HOI & [T AT
H FT Haas o1 ?

(1) ST TR
(2) SRR | STeIer

G REESIERY
(4) IETHE | FTET STH-S &l STSITEl

Elﬁa,baﬁ'{cﬁ[”ﬁ?l’) g @R
W +42-2)ta + 435 + )20,
R, A= H A BN g Y

(1) a+b-c=10
2) a—b+c=10
3) a+b=2c

(4 a+b+c=16

P.T.O.



19. Which of the following were the

20.

21.

famous three demands of Lenin
that are also known as ‘April
Theses’ ?

I The war be brought to close.

II Land be transfered to the
peasants.

IIT Restrictions on

meetings be imposed

public

IV Banks be nationalised.
(1) I, II, III (2) IIL, III, IV
3) I, 1III, IV 4 I,1II, IV

Carrying the flag, holding it aloft
during marches in Indian National
movement, was a symbol of :

(1) Leadership
(2) Defiance

(3) Non - Violence
(4) Satyagrah

T |
CHg - CH-CHqg —C—CH2—C—H

Which functional groups are

present in this organic compound ?

(1) Alcohol, ketone and ester

(2) Alcohol, ketone and carboxylic
acid

(3) Alcohol, ketone and aldehyde

(4) Alcohol, aldehyde and carboxylic

acid
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19. F=ified § 8 o & s

20.

21.

it - ff R ol i #
I G S AT A D

I g5 §8 % & 9|

II fRaMl &l SH9 999 g & |
11 S9aerel 9 Ured) o m & 917 |

IV @ & Tk e S|
1) LILIT (2 II, 10, IV
@) LIULIV (@) LI, IV

WA & TS AR & 2R, Jad
g Zier 9 9o, fR9 a9 & b
qr 7

(1) g
(2) T & 9T oTEET
(3) ARHn
(4) TETE
OH 0] (0]

I Il Il
CHg - CH-CHq _C_CHZ -C-H

SWE FEME  TEEE ¥ PE-d
R TE SURed § 7

(1) 3fhEd,

OIe T T
e T el

(2) 3AhEd,
SN

TGS PIRUE HES

TCEIEIES T FHIairacish

(3) SATRIE,
(4) STEhE,
T



22.

23.

24.

How many subjects are given in

central list ?
(1) 97
(2) 66
(3) 50

(4) 47

What is the mass of 2.5 moles of
COg ?

(1) 100 g
2) 110 g
(3) 88¢g

(4) 98¢

Which of the following organ

in  human male 1s called

thermoregulator ?

(1) Vas deferens

(2) Ejaculatory ducts
(3) Scrotum

(4) Cowper’s gland
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22.

23.

24.

S g & e R e ¥ 2

1) 97

2) 66

(3) 50

(4) 47

2.5 HI@ CO. & wefd (ao) T
et ?

(1) 100 g

2) 110¢g

(3) 88¢g

(4) 98¢

geul H Frefafed § @ fRE oA @
TAIRIEY Fel Sl & 7

(1) a9 BHd

(2) FoigCl SHeH
(3) ®plcH
(4) FE Tfv

P.T.O.



25.

26.

The graphs of the equations
2x + 3y = A and x + 2y = B intersect
at the point P, which also lies on

the graph of the equation :
(1) 5x+3y=A-B
2) 3x—5y=A+BHB
3) 3x-5y=A-B

(4) 3x+b5y=A+B

Radha works in an office from
9 am to 5 pm. She gets her salary
regularly every month and also
she gets provident fund, medical
and other allowances as per the
rules laid down by the govt.
Sunday is a paid holiday for her.
She was given an appointment
letter stating all the terms and
conditions of work at the time of
joining.

Her cousin Ram is a daily wage
labourer in a cloth shop. He goes

to shop at 8 am and works till

8 pm in the evening. He does not

NTSE-Class-10th(SAT)-2019

(12)

25.

26.

THETN 2 + 3y = A TN x + 2y = B
% A g P W U & 8|
forg P = HHEERT % oo WA
e &

(1) bx+3y=A-B
(2) 3x—5y=A+B
3) 3x-5y=A-B

(4) 3x+5y=A+B

Y TF FHECE § GIE 9 a9 d 9
5 95 0% HM B o | 98 Fama &g
q T WE AUl I O 8 | aad
& ARE] 98 WHER R & ded
Aiqesy iy, i o o 9 9@l
o< B 5| AR IEH A
HIFIA B & | T I AHA AT
B i, T IH Th MY 9= A T
o fred A gl fFEee SR erdt
B I oA T AT

IS T S TH, Th HIS Dl HH
¥ I AeIgl HA A JfEE 2 | a8
gaE 8 T FFM W M 8 AR AW
8 & T% FM FIA sl IW AT




27.

get any type of allowances apart
form his wages. He is not paid for
days he does not work i.e. He does
not get paid holidays. Also, he did
not get any appointment letter.

In which sectors, Both Radha and

Ram work ?

(1) Both are in organised sectors.

(2) Both are in unorganised
sectors.
(3) Radha works in organised

sector while Ram works in

unorganised sector.

4)

Radha works in unorganised
sector while Ram works in

organised sector.

Who was the author of
Arthashastra ?
(1) Kautilya (2) Plato

(3) Aristotle (4) Mechiavelli
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27.

A
qogdl @ ARG A T A T
faa &1 S8 FE |aad SEmd el
e 21 3@ B SAwEIRE T AR
firer B, o g@m  fgfm & ar &
el 7T & |
qaRy Tl iR W fFa-fea ame |
P FIA § 7

(1) T Hfed &% § &H &g 2 |
(2) T TG &% H HY F 2 |

(3) T Tfed &% H HME H B
qME T
ST 85/ H FHH B g |

Sqich 39BN

(4) T STHIAST &5 § P Bl &
e IHHE TEAN 9E U9 Ged
85 o HY BT B |

AT F AGH I o7 ?

(1) e (2) e

(3) (4) Afpamae

P.T.O.



28.

29.

30.

Which is the ruling party in

Telangana ?

(1) T.D.P.

(2) Indian National Congress

(3) B.J.D.

(4) T.R.S.

Which of the following UT does

not have its own Assembly ?

(1) Delhi @) J&K

(3) Ladakh (4) Pondicherry

Teacher wrote following points on
the blackboard about a particular
crop 1.e. Temp. 20° - 35°C, Rainfall
- not less than 200 cm Terrain -
undulating, soil laterite, red,
yellow. Which of the following crop

the teacher is discussing about ?
(1) Jute (2) Millet

(3) Coffee (4) Rubber
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28.

29.

30.

T Tog B fRE T i 9N B 7

(1) 9. 3. 9.
(2) FIF
(3) &1. 9. .

(4) &. IX. Ty.

= daifad uedt § fRoel oo
faum a9 787 ?

(1) feweht (2) T AR FER

(3) g™ (4) TSR

Uk AHTE kAT § e |
el & wEa @ sl IRt
% g Fmue W forg @1 § A
20° - 35°C, a9l 200 H.Hl. | M@,
ERA-Aa g, WE - dw, i,
deEe | 9 F ¥ T % g
HEA & AR ST HT Vel © 7

(1 < (2) T

(3) &l (4) T3



31. The daily wage of a person in rural
area is Rs. 200 and the poverty
line for a person is fixed at Rs. 800
per month for rural areas.
Following table shows the detail of
employment of four families living
in a village. Identify the family

living below poverty line :

Family Total days of | Members
Employement | of family
got in a month
by the family

Ram 10 2

Radha 18 3

Raju 12 4

Pooja 25 5

(1) Pooja
(2) Ram
(3) Radha
(4) Raju
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A

31. 7T & § wF ARR 3 Jeigd

To 200 B qU UEH A & AU
e @t @ So 800 Hitmre FivEd
# T ¥ Friad aifeeer & o
¥ R g a) aREri & S @
feror fmr o )1 e e @ AR

& gt RER | e
fRar | oREar @ | dREr &
T WE F | "R W
qa AR | &
3 R
™ 10 2
e 18 3
T 12 4
el 25 5
(1) g
(2) ™
(3) e
(4) T

P.T.O.



A (16)

32. The LU.P.A.C. name of following 32. == AF® & LU.P.A.C. 8 &
compound is : g7
CHy ~CH - CH, - QH—CHS CH,; ~CH - CH, - QH—CHS
CoHsp CoHsg CoHs CoHj5
(1) 2,4 - Diethyl pantane (1) 2,4-TE3AET Uved
(2) 2,4 - Diethyl butane (2) 2,4-3E3AZT Ei%;[
(3) 3,5 - Dimethyl hexane (3) 3,5-SEMYARA B
(4) 3,5 - Dimethyl heptane (4) 3,5-SEMART e

33. Which one of the following is not 33. FHffag & ¥ &9 wE C:L\—rﬁ Bl

an example of fixed capital ? JEER FEF R ?
(1) Tools (2) Raw materials (1) SIS (2) el |l
(3) Machines (4) Buildings (3) A (4) HqIT
34. If \/1—cos9x\/cosec9—cot9:r—1 34. IR \/1—cosex\/cosece—cot6=r—1
1+cos® VcosecO+cotb r+1 1+cos® \VcosecO+cot® r+1
then : %, o
(1) tan®=+r?-1 (1) tan®=+r2-1
(2) cosO=r (2) cosO=r
2 2
(3) sin®+cosO= e+l (3) sin®+cosO= o+l
r r
(4) cot®=+v1-r? (4) cot®=+1-r?
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35. Arrange the following households

36.

in ascending order of per capita

(17)

income.
Name of Total Income | Size of the
Household | of Household | Household
Rajat 6000 5
Raman 5000 5
Suman 3200 4
Priya 8400 6

(1) Suman < Raman < Rajat < Priya
(2) Priya < Rajat < Raman < Suman
(3) Raman < Rajat < Suman < Priya

(4) Suman < Rajat < Raman < Priya

India imports Chinese toy at Rs.
100, whereas the same toy is
manufactured and available in
India for Rs. 150. Now if Indian
Govt. puts tax of Rs 50 on import
of that toy. This Practice of Indian

Govt. is known as :

(1) Export Substitution
(2) Trade barrier

(3) Import Substitution

(4) Dumping
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A

35. fr=foiaa aRari & ufq =/ o &
MYR W oMUeEl % §  Fanad

36.

I |
REarR & | REarR & | IREr #@
q™ [ A JTHR
LS 6000 5
T 5000 5
g 3200 4
o 8400 6

(1) o < T < T < o
2) o < ™=@ < T < gad
(8) T < Td < g < foran

(4) AT < A < M9 < o

AT A9 d %o 100 P HHd Tl Th
Ral T ST & & Teih ael Rawen
qrg § Mg 2 @ &)X %o 150 H
fraar 31 o9 3R 9Rd @R o™
R % ST WX Ho 50 F HT @l
R, A 9RT W & 39 i A
el S
(1) i fcremas
(2) AR STEAUTF
(3) 3T Hfcre T
(4) st

P.T.O.



A (18)

37. The arithmetic progressions : 1, 4, 7, 37. 99y AP : 1, 4, 7, ...... ey
....... and 2, 10, 18, ..., each 2, 10, 18, ....., ¥ Td% & 100
contains 100 terms. How many 1w g1 W Afm § R W
terms are common to both the Sy B 7

progression ?

(1) 10 (1) 10
(2) 12 2) 12
(3 13 (3) 13
(4) 14 (4) 14

Direction : (Q. 38 to 41) Read the fA3sr : (Jo 38 & 41) 1 &y T Fert H
statements and select the correct answer afed Y fRu T fgkedt § F @ IO o

from the options given below. I T |
(1) Statement - I is True. (1) ®99 -1 F&l 2
Statement- II is false. o - 11 A € |
(2) Statement - I is false. (2) ®IT -1 g 2|
Statement - 11 is true. Fo - 11 el 2 |
(3) Both statement are true and (3) 3T FHUT TEl %, BT - 11 AT -1

statement - II provides P T HT B |

explanation to statement - I.

(4) Both statements are true but (4) 3T BT TR X, ] 4 - 11

statement - IT does not provide )
F - 1 6l e Tl Al 2 |

explanation of statement - 1.
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38.

39.

Statement - I : Three wars over
seven years with Austria, Denmark
and France ended in Prussian
Victory and completed the process

of unification of Germany.

Statement - II : On 18th January,
1871 new German Empire was
proclaimed headed by Kaiser

William I of Prussia in the Palace

of Versailles.

Statement - I : On 5th May, 1789,

Louis XVI called together an
assembly of the Estate General to

pass proposals for new taxes.

Statement - II : The members of the
third estate demanded that voting
now be conducted by the principle

that each estate had one vote.

NTSE-Class-10th(SAT)-2019

(19)

38.

39.

FAT - 1 : @ 94 & IR SR,
ST AR HE & d9 g@ H g
H AT H AT THA & THET
qfshar X &3 |

HH- II : 18 9adl, 1871 & adT
% Wed H RE & FEeR faferd - 1
% AR § U SHT HEY &
Pl T |

H99 - 1 : 5 2, 1789 & §s XVIE
d, U HA F WE B ARG FBA &
fm geeT S &1 g gas |

HOT - II : g 3@ & qedl A
O @ % 3Re & UF de
sl @R alfeT &l Sy |

P.T.O.



40.

41.

Statement - I : Under the shadow of
the Second World War Germany had
waged a genocidal war, which resulted
in the mass murder of selected groups

of innocent civilians of Europe.

Statement - I : Germany’s conduct
during the war, especially those
actions which came to be called
‘Crimes Against Humanity’ raised
serious moral and ethical question

and invited worldwide condemnation.

Statement - I : After the corn laws
were scrapped the condition of
peasants deteriorated as they were

unable to compete with imports.

Statement - I : Around the world
in Eastern Europe, Russia, Amarica
and Australia lands were cleared
and food production expanded to

meet the British demand .
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40.

41.

99 - 1 : {50y fasags & 99 4
SHAI S TEER & & A | R
IROTHEEY JA9 & Y HGH A
% AU H S Hea ¥ e A |

g9 - I : J2 & SRA A &
AT, f4Uve: 9 2 A &
Roems oy 3 TR Afe
qqT Ih

TIETT 9 B ISEN
fgeeeamdl STeir=T 88 |

T - I : e d s-of & MR
B & 9% fREml @l B e ol
Fifh I AN A B HET A
YR TE FR bl o |

HI9 - I : T@ Y, &9, AR
SR amgfera, g % e e ¥ e
% Ml % AIS % U S Bl A
T Gl B S |



42,

43.

Consider an infinite grid with
square cells. The resistance between
two adjacent joints is R. Find the
net resistance Rnet of the whole

grid between two points A & B.

Al B

o9
1) R (2) R/2
(3) R/4 (49 4R
Arrange the following in a

chronological sequence :

I Second table

conference

Round

II Establishment of Depressed

class Association

III Breaking of salt law and

beginning of civil disobedience

Movement
IV Lahore Congress
(1) IL I, IV, I (2) I, 11, II1, IV

(3) IV, I, TIL, T (4) TIL T, I1, TV
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42,

43.

A

U I R Ud aeR @Ml &
A B BT B D QA (heddl
el B g U R B1 A SR B &
a8 - gl S & Jod URRiE Rnet
% H BT

1) R
(3) R/4

) R/2
(4) 4R

P bl BIEhIAR  aigd
F
I f&dE Mo g

I Sfed-av THIRUSN &l Tt

Il H&-FMT  digd T dfag
SIS AR bl JEAT

IV @R Hiid
(1) IL 0L IV, T (2) L, 1L, 101, IV

(3) IV, I, TIL, T (4) TIL T, I1, TV

P.T.O.



44, Arrange the following in a

chronological sequence :

I Abdication of Tsar

II Bloody Sunday

ITT Formation of Comintern

IV Civil War

1) IL L IV, 1II (2) I, IV, I, 11

3 LILILIV @) I, IV, I, II

45. A uniform wire of resistance 9Q
having resistance 1Q/m is bent in
the form of a circle as shown in
figure. If the equivalent resistance
between P & Q 1s 2Q, what is the
length of shorter section ?

P
Q

(1) 4m

(2) 3m

(3) 6m

(4) 2m
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44.

45.

e &l FIeEhIIIAR e
PR

I SR & @

II gl dgEr

I T & T

IV Te 3=

(1) IL 1, IV, I (2) IO, 1V, T, 11

3 LILILIV 4) LIV, I, 11

9Q YT T 1Q/m F TH I9H
d % FETgER OF g9 & &4 | qg
o ) A P a Q % HA T
g 2Q @, @ Bl 9 # aws
29

P
Q

(1) 4m

(2) 3m

(3) 6m

(4) 2m



46.

47.

Consider the following statements.

A The velocity of sound in air
increases due to presence of

moisture in it.

R The presence of moisture in air
lowers the density of air.

In above statements :

(1) Both ‘A’ & ‘R’ are correct & ‘R’

1s the correct explanation of
‘A’
Both ‘A’ & ‘R’ are correct but ‘R’

1s not the correct explanation
of ‘A’

@)

‘A’ 1s correct, ‘R’ 1s incorrect

®3)
(4)

‘A’ 1s incorrect, ‘R’ is correct

When a cell is placed in strong salt

solution. It shrinks, because :

(1) Salt solution enters in cell

(2) Cytoplasm of the cell begins to

decompose

(3) Water came out of the cell to

develop equilibrium

(4) Water enters inside the cell to

develop equilibrium
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46.

47.

T e e S

A Tg ¥ T # SuReld § I@d
& H I 98 Sl 2 |

R 7 & SuRefq & &g & 27
FH & A B |

SO HAH

(1) ‘A’ & ‘R’ a4 T2 & a1 ‘R, ‘A’
P TE AT ®

(2) ‘A’ Td ‘R’ a9 @& & a1 ‘R, ‘A’
& T el e 8

(3) ‘A TE R, ‘R Tel & &

(4) ‘A’ T2 7E &, R Gl B

9 UF FHIAHE B GE THE B (AT
@ S B Y g S g, i

(1) 9% H [Jaz9 @ § 54T
HIAT B

(2) HIAR F SHazed fGafed B &
RIS

(3) FHIH F TN TR ST B ik

TR fasmed &l 9
(4) UM FIE F ST A 8 B

TR famted & 9
P.T.O.



48.

49.

A person has a rectangular sheet of
metal. He has to make cylinderical
vessel whose both circular ends
are closed. When he minimize the
wastage of the sheet, then what is
the ratio of the wasted sheet to the

utilised sheet ? (w= %)

1
(1) 29
@) 3/11
1
3) 1

(4) 5/22

In a two Dbody collision, the
momentum is varying with time as
shown in graph. The instantaneous

force is maximum at :

-

]
'
[
[
T
]
¥
[
--------- H
1
[
(]
[]
[
n

—_—t—>
1 P 2 Q
3 R 4) S
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48.

49.

el i & e ag B O
ATAHR TEX B I @A UH

AR g a9 8, rd® &l
a@R R &% 21 99 8 @R o™
qrefl AT B FATH FA 8, A FHR
1 IS | RO I e i s B

TRY I © 7 2—72)

(n=
1

1) 29

2) 3/11
1

(3) Tl

(4) 5/22

fz-fve dug §, 999 & 9 9aT &

TRadT W% § il 2 | dreriees S
& SIHTH T R

1) P

@) Q

4) S

3) R



50. Select the correct set of statements

51.

regarding change in properties, as
we move left to right in the second

period of periodic table :
I Atomic size decreases
II Valency remains same

IIT Electronegativity increases

IV

Metallic character decreases
(1) I, IT and IIT
(2) II, IIT and IV
3) I, Il and IV

4) I III and IV

Shivasamudram fall is found on

which river ?

(1) Mahanadi

(2) Chenab

(3) Cavery

(4) Krishna
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A

50. @0 AR & @ e § 9 9§

51.

Rl A S BT orgHl & qREeH &
ded | el 9yE g

I OREIY] A ged §
II st &9 & 8
11T fEa-FoTeed dedl &
IV Hrfes o7 gedl ©

(1) T, IT &1 I11
() I, TIT &1 TV
(3) I, I IV

(4) T, TTT 9 TV

frerdEd g e TEMY W O S
g7

(1) HeM e
(2) TE
(3) e

(4) =

P.T.O.



52.

53.

Which metallic mineral is famous
in the Balaghat district of Madhya
Pradesh ?

(1) Gold (2) Iron

(3) Copper (4) Zinc

Ram was working with his father
in their farm. His father was small
farmer. Income generated from the
farm was not enough for the
family. Ram got an opportunity to
get loan from the bank under a govt.
programme. He bought a rickshaw
with that money and started
working as a rickshaw puller in the
city. Now he is able to earn good
enough and their family income is
increased than earlier. Such kind

of activity done by Ram to improve

his financial condition comes under :
(1) Primary Sector

(2) Secondary Sector

(3) Manufacturing Sector

(4) Service Sector
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52.

53.

=t & & a9 g @1 @ee
e Jeq & e o § uis § 7

(2) B

(4) ST

(1) Tof

(3) dfar

T YA U & |1y oo ©d H FH
FAA A1 I (U Y FYE I | @l
B aml o I E-URER @
HATHNA H T B & 0 @
T Al T B TH AN AN &
TEd 9% d Fo ad #B @
T SER 39 Y9 ¥ uh REn @l
A ET T T REE & FM
& FT A1 79 q G q=F B
q @ ATl 3D GRAR H A o
Ted 9 oY Bl R ol | 9 BN ST
qER & offie Refd gare & fag
3 UER W FE FA G aEh B
TR S ?

(1) It &
2) T o
(3) SR &

(4) T &F




54. A screen bearing a real image of

55.

magnification m,, formed by a
convex lens, is moved by a distance
x. The object is then moved until a
new image of magnification m, is
formed on screen. The focal length

of lens 1s :

(1)

my —my

my —my

@)

3)

my; —mgy

my —mg

4

The number of integral solutions
(x, y) of the system of equations

¥ —xy+8=0and x> —8x+y=0is:
11
2) 2
(3) 3

4) 0
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A

54. UH U&, P9 W a4 @9 & 1, m,

55.

dEHT F U e B, #ox gl
Rgder fear am| o9 g%y H 3
Roweprar T f6 wh T offes
e omads m, 8, 9 W a9 T
SEECIREIE7s VIR N

1

mo —my

myo —my

@)

3)

my; —mgy

m; —mgy

(4)

T BT 22 — xy + 8 = 0 AN

- 8x+y=07% [N &l (x, y)
colicie: I

1 1
@) 2
®) 3
4 0

P.T.O.



A (28)

56. Match the following famous place 56. g ofs M @ Bae o

with their respective states. & 1 FHIT |
I II I II

A Pampa (1) Tamil Nadu A U9 9FR (1) FIﬁIFHTg
Sagar lake EIK|

B Dibang (ii) Arunachal B fdvagsgRd™ (i) FEUER ged
Multipurpose Pradesh PIEE]
Project C owe d (i) Feh

C Umnanda (ii1) Karnataka D ¥Ee T (iv) W
Island

D Anicut Canal (iv) Guwahati

(1) A (i), B @), C (i), D (iv) (1) A Gi), B @, C GiD). D Gv)
@) A (i), B (i), C (iv), D (i) @ A Gib). B (i), C (v). D @)
(3) A (D), B @v), € @), D (i) 3) A (ii), B (v), C (), D (i)
@) A (iv), B (i), C (i), D (i) @ AGv). B G, C Q). D (i
57. Which of the following type of 57. frefafad & fFd v & i &
teeths are called as tearing teeth ? R A ard Fel S g
(1) Incissors (1) g
(2) Canines ©2) &3
(3) Premolars (3) T
(4) Molars (4) T (%)
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58.

59.

60.

A body is dropped from rest. Its
velocity varies with displacement

covered as :

In AABC, BE and CD are the
perpendiculars on sides AC and
AB, respectively and
each other at O. The bisectors of
Z0BC and ZOCB meet at P. If
/BPC = 146°, then what 1s the

measure of ZA ?

Intersect

(1) 34° (2) 68°

(3) 73° (4) 36.5°

A normal bar magnet is 6 cm long.
It’s north pole will be away from

1its mid point at a distance of :
(1) 6cm

(2) 3cm

(3) Slightly more than 3 cm

(4) Slightly less than 3 cm
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A

58. fvm 4 FRE ™ ©F 9% @, T -

foReI AT BT

(1)

3) v

59. AABC #, 9ofell AC @1 AB W

60.

BE 3R CD %A @9 8, X I T
T HB g 0 W ofsE F R
Z/0BC 31X ~#0CB & @Hizde® P
T e 213 «BPC = 146° &, @
A & HT F R 7

(1) 34° (2) 68°

(3) 73° (4) 36.5°

Th qEA B FHEE Al 6 cm
2130 AU g &, 3% A g 4@
5t 2 :

(1) 6cm

(2) 3cm

(3) 3cm ¥ g7 Aeh
(4) 3cm ¥ AT HH

P.T.O.



61.

62.

Choose the correct statement :

(1) Lok Sabha and Rajya Sabha
have equal power in financial

bill.

(2) Lok Sabha and Rajya Sabha
have equal power on ordinay

bill

(3) Lok Sabha and Rajya Sabha

have equal power on

constitutional amendment bill.

(4) Rajya Sabha 1s house of

general people.

A uniform magnetic field pointing
top to bottom in a plane of paper.
When an electron is allowed to
move perpendicular to it, it get
deflected outwards. The electron
must be moving along :

v v WV v Vv

(1) Left to Right

(2) Right to Left

(3) It is stationary

(4) It can’t deflect outward
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61.

62.

& FIF Ty

(1) Rl fod W AEHa9 a Tooqen
& G i 2

2) BT I & ERT W,
TWHAAT T [TIET B N
qferTar & |

(3) dfgg™ HAew f9a W dAlpasr g
T aq H T AfEr § |

(4) ToTQT TH ATt B T 2 |

T T &9 H B Gae H
IR T A9 @ AR [fw g1 59
TS Bl 3H® TEad A T, T8
X H X fRUT = T TR
P T BT R

v Vv v Vv WV
(1) s & st i}

2) T Tt o}

(3) & R B

(4) T8 TqE B AR faufa T o
B



63. Which has maximum number of

64.

65.

atoms ?

(1) 24 gof C (12)

(2) 56 g of Fe (56)
(3) 27 gof Al (27)

(4) 108 g of Ag (108)

A pulse crop is grown in the time
interval between two cereal crops

to compensate for the :
(1) Loss of phosphate

(2) Loss of sulphur

(3) Loss of potassium

(4) Loss of nitrogen

Which Indian soil is formed due to

weathering of basic igneous rock ?

(1) Lignite soil

(2) Alluvial soil

(3) Desert soil

(4) Black soil
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63.

64.

65.

A
Fr H @ R TR @ e
e ¥ 7

(1) 24gC(12) &

2) 56 g Fe (56) &l

(3) 27 g Al (27) &1

(4) 108 g Ag (108) 1

IES gl & BEAl b oS § ae
Il HEd S Sl & i e @
qfcl 2 qb

(1) BERRE & FHI
(2) THT B HHI

(3) Wl & F#
(4) TRESTT F FH

BA-E AR TS B T gered
AE A & AR & B GIAT ©

(1) foge et
(2) S et
(3) Wi
(4) et et

P.T.O.



66.

67.

Observe the map given below.
Identify the correct marked points
of a pipeline of conventional

energy reason with a sequence :

INDIA

OUTLINE MAP (POLITICAL)

M

A
Index Place of
Conventional
energy
resource
pipeline (HVJ
naturals gas
pipeline)

(1) (a) Aonla (b) Shahjahanpur

(c) Auraiya (d) Jagdishpur

(a) (b) Aonla
(c) Shahjahanpur (d) Auraiya

(2) Jagdishpur

(3) (a) Auraiya (b) Shahjahanpur

(c) Aonla (d) Jagdishpur

(4) (a) Shahjahanpur (b) Aonla

(c) Auraiya (d) Jagdishpur

When x'% —2x°! +1 is divided by
x> — 1, the remainder is r(x). The

value of r(=2) + r(2) is :

1) o (2) 4

(3) 6 4) 8

NTSE-Class-10th(SAT)-2019

(32)

66.

67.

Ru MU AMRE 9 emEdieT #X | g9
T figell @ shews figel § Sed
W N % WRAA A & FEl [ qehed
SffeT -

M

A
Index Place of
Conventional
energy
resource
pipeline (HVJ
naturals gas
pipeline)

INDIA

OUTLINE MAP (POLITICAL)

(a) SFE@T (b) SMESTETYR

@
(c) SRS
(a) STEISGT  (b) SFTael
(c) AMESTEYR (d) AR
(2) AREA  (b) AMESTEIYL
(c) ST (d) SFTEITYT

(a) METEIG  (b) e
(c) JAREAT (d) STEIYGT

(d) STTEIYY
2)

3)

(4)

g x'1%% —2xt 41 @ A2 - 1, |
faqfsrg frar omar 2, @ %A r(x)
AT B17r(=2) + 1(2) & 91 2 :

1) o 2 4

3) 6 4) 8



68. A conical paper cup with height

69.

16 cm and base radius 6 cm is filled
to the top with water. If 19/27 of the
water i1s removed, then water level

in the cup will drop by (in cm) :

1
1) 55

2
@ 43

1
®) 45

2
@ 53

Each exterior angle of a regular
polygon is less than 40° and the
sum of its interior angles is less
than 1980°, If N 1s the number of
sides of the polygon, then the
number of possible values of Nis:
(1) 7

@) 5

3) 3

(4) 2
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A

68. TS § T TH SHHR H9 e

69.

FaE 16 cm SR oMUR @
6 cm 2, IOTEY | UMl & W O 2 |
g TEH @ UE H 19/27 AN b
forar SQ, A1 %9 § Ul H ddd e

cm R S ?
1

1) 55
2

(2) 45

1
@) 43

2
@ 53

ol qHEEYS & SehT 40° § &
g AR @& ofT: U B AN 1980°
q 9 B OAR aggs W el &
d@r N B, @ N & @faq A= @
qe B

1) 7
@) 5
3) 3

(4) 2

P.T.O.



70.

71.

Match the following states with

respect to their highest literacy

rate :
State Literacy Rate %
A Kerala (1 91.85
B Lakshwadeep (i1) 91.33
C Mizoram (ii1) 94.00
D Tripura (1v) 87.75

1) A (i), B (iii), C (), D (v)
(2) A (ii), B (iv), C (i), D (ii)
(3) A (ii), B (i), C (ii), D (iv)

(4) A @v), B (i), C 11), D @)

D and E are the points on sides BC
and AC, respectively of AABC. AD
and BE intersect each other at T.
If AT/TD = 5 and BT/ET = 7, then
CD:BD=

1) 1:7

2 5:7

3) 5:17

4) 3:17
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70. I=EdH GBRRAl &Y & Gag " STRIel

71.

Y & STy 9 34T &

T QIR T %
A A (i) 91.85
B @&am™ (ii) 91.33
C feim (iii) 94.00
D fgu (iv) 87.75

1) A (i), B (iii), C (@), D (v)
(@) A (ii), B (iv), C (i), D (ii)
(3) A (ii), B (i), C (ii), D (v)

(4) A@v), B @i1), C 11), D @)

AABC & 9omieli BC @1 AC W
Fa: 45 D @R E €1 AD 3R BE
T TR B T WX AREEE #3d o | A
AT/TD = 5 @YX BI/ET = 7 &, @
CD:BD=

1) 1:7

@) 5:7

(3) 5:17

4) 3:17



72. The coordinates

73.

of vertices A
and B of a triangle ABC are (0, 0)
and (36, 15), respectively. If the
coordinates of C are integers, then
what is the minimum area (in sq.

units) that AABC can have ?
1 1
3
9) 2
(2) 5

3) 2

(4)

Do | Ot

The seasonal or periodic movement

of pastoral farmer with their

livestock over relatively short
distances seeking fresh pastures
between two areas of different

climatic conditions is called as :
(1) Lay farming

(2) Crop rotation

(3) Transhumance

(4) Ground farming
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A

72. B9t ABC & i A &R B &

73.

i ®I: (0, 0) AT (36, 15) B |
e C & FREE e d OF, @
AABC & ¥ &5%d (a1 3% H)

T & bl & 7

11
3
@ 5
3 2
5
@ 5
SR - S Sferarg IR & Al
el @ S Al EREel e |
T (Ta) B RPEE o Uged &

e AEE AT STER WA B
g, 39 Fel o R

(1) =NE Y

(2) FOTEH I HEAIIA
(3) GO

(4) T

P.T.O.



A (36)

74. On which basis, the sectors can be 74. TEEI B fRE MR WX AESNE A
classified into Public and Private fett e ® fafora forar Srar ® 7
sector ?

(1) Ownership of enterprises (1) ST & @iia

(2) The nature of economic activity (2) oTfda Tfarafy & w@uE

(3) Number of workers employed (3) TEW ¥ A wftes & dem
in the enterprise (4) AR F 9

(4) Employment conditions

75. The nature of a solution obtained 75. oML o1 NFAES & S H e
by dissolving soluble metal oxide A O Gerae bl Yepfe a/m Brl ?
in water is :
(1) Acidic (1) T=Ig
(2) Neutral (2) JEEH
(3) Basic (3) aR™
(4) Amphoteric (4) ITFH
76. Which of the following does not 76. Frefafad § fpad 9 Sweeer 78
have poison apparatus ? g ?
(1) Scorpion 1) foeg
(2) Centipede (2) HE
(3) Spider (3) ARSI
(4) Crab (4) FFs
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71.

78.

A cork is immersed in a jar of
water & released. How the cork
will move if the jar is assumed to
be kept in a satellite orbiting
earth :

(1) Sink
(2) Rise
(3) Remain where left

(4) Depends upon the satellite

velocity

A person of weight W jumps to
ground with his legs fixed & comes
to rest with an upward acceleration
of 3 g. (g = acceleration due to
gravity). The force exerted by him

during landing is :

1 W

2 2W

(3) 3W

(4) 4 W
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717.

78.

A

U Fih B G & W AR H gl B
Bl fGar mr| A SR & gl @
UREAT Fd g IWE A T@oger
T AW, @ P Hl AT B

(1) 7& & S
(2) I8 FUT I3M
(3) ST&T Biel T, W

(4) 7€ ITE H I W AR &

W 9 & UF a, o WA
®E WA 8T AR gl W g R
‘3¢ & IWHE @O F A I H

I (g = Tow@E @), q Fd G4
SH W QTG & 8r ¢

1) W
@) 2W
(3) 3W

(4) 4 W

P.T.O.



79.

80.

81.

Tracheal respiration is found in :
(1) Birds

(2) Reptiles

(3) Mammals

(4) Insects

Choose the wrong statements in

the following :
(1)
2)

India has unity in diversity.

India  has  Parliamentary

democracy.
3)
(4)

India is Republic.

India 1s not member of

commonwealth countries.

ABCD is a cyclic quadrilateral in
which AB =14.4 cm, BC = 12.8 cm
and CD = 9.6 cm. If AC bisects BD,
then what 1is the length of AD ?

(1) 16.4 cm (2) 13.6 cm

(3) 15.8 cm (4) 19.2 cm
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79.

80.

81.

ST ST T S ©
(1) qfer

(2) ThgT F

(3) wHARA |

(4) I

=1 8 8 70d w99 g

(1) 9Rd & faf=rar & uehar 2|
(2) 9T ¥ 99Ty B

(3) IR T 2 |

(4) 9RT TTHST oo H deg el
2

ABCD & =g =g4s &, foeH
AB= 14.4 c¢m, BC = 12.8 cm 3R
CD = 9.6 cm 21 3¢ AC, BD &
qAfEiIa Far 2, O AD @ dar

G B
(1) 16.4 cm (2) 13.6 cm

(3) 15.8 cm (4) 19.2 cm



82. Mark the correct reason for the

83.

following statement - Karnataka
has developed as an in state for

the growth of silk industry :

(1) Availability of good market,
skilled labour and political

reasons.

(2) Availability of good market,

good climate and political

reasons.

3)

Good climate, availability of

soft water and mulberry

plants.

(4) Availability of soft water, good

climate and nearness to port.

Which British banned sati in
India ?

(1) William Bentinck

(2) Lord Cornwallis

(3) Lord Dalhousie

(4) Lansdown
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A

82. FHich IUH TEN H He@ Tl IdEh

83.

gy 3| fefiad ® 9 g8 &R
gﬁﬂz:

(1) 3T\ IR,

I HIRT |

HRAT Holgr 9

(2) =W TN, o TeEg 4
I HIRT |

(3) ST=8l STrary AN UM g SR &
Ui &% HR |

(4) TS 9, STl Sy d See
% Il B b FROT|

fhg oS 3 9Rg § gdmT @ gHra
fopam ?

(1) faferm S
(2) WS FHivenied
(3) @S SIS
(4) ST

P.T.O.



84.

85.

86.

Which statement out of following

is true ? Isobars have :
(1) Same protons

(2) Same electrons

(3) Same neutrons

(4) Same nucleons

The %age of irrigated land in

India is about ___ as per 2017
datas.

(1) 45% (2) 65%

3) 25% (4) 35%

The equations x2+rx+64 =0 and
x%2—8x+r=0, where r > 0, have

real roots. Then r satisfies the

equation :

(1) r2-15r+8=0
2) r?-14r-30=0
(3) r2-13r-48=0

(4) r?-12r-56=0
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84.

85.

86.

g 8 & a9 @1 &9 g ' 7
HEEEAR (FHAIRE) & &

(1) F9F 9
(2) TN O
(3) T I
(4) THE kT

WA H fhad gfaed 9@ 2017 &
MRS & TgAr ffea & ?

(1) 45% (2) 65%

(3) 25% (4) 35%

et G| x2+rx+64=0 Iry
x2—8x+r:0,ﬁgfr>0%,%‘f'f
adfas 21 a9 r TN SR @

I FA 8

(1) r?-15r+8=0
(2 r?-14r-30=0
(3) r2-13r-48=0

(4) r?-12r-56=0



87.

88.

89.

Which of the following statements

1s incorrect about honey bees ?

(1) Queen bee i1s the largest in

size.

(2) Worker bees outnumber the
others.

(3) Drone keep the hive clean.

(4) Bees have no sense of
direction.

If x*-83x2+1=0, then a value

of x®-x721is:

(1) 758 (2) 756

(3) 739 (4) 737

A dice is constructed so that when
it is thrown each even number is
twice as likely to come up as each
of the odd number. What is the
probability of getting 6, when it is

thrown once ?

1 1
@ 5 @ 5
2 1
@ 9 @ 3
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87.

88.

89.

A

nguiREdl & R H fefared § @

B T AT FFT® 7

(1) T AYAREl & SAHR Tq9 I8
A B

(2) #H%h AYHEEdl & G g9y
a1fers Bl 2 |

(3) 3N B P A% T E |

(4) wyHrFE H A w R T
Tel 2l |

¢ x4 -83x2+1=0 %, A oad a3

H TH A B

(1) 758 (2) 756

(3) 739 (4) 737

T U 36 gER 4 T R R o
34 G AT @ ZAUW GOh G GE
AW FH GHET TOh fquH de @
AN & AW F g 2 AR 9 A
TF dX Tl A, A FHR 6 S I
freRaT T § 7

1 1
@ & @ 5
2 1
@33 @ 3

P.T.O.



90. A metal sphere is dipped in water.

91.

If at 0°C & 4°C the buoyancies in
water are B, & [, respectively,
then :

D B,>By
@) By>B,
@) By =B,

(4) It depends upon radius of sphere

In the figure, PT =TS, PQ L QR
and PQ [ISR. If PQ = 9 cm,
QR =8 cm and SR = 7 cm, then
what is the area (in cm?) of quad
(PTVQ) ?

P T

(1) 22
2) 24
(3) 25

(4) 26
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90. T e M B oW F g T

91.

e 0°C T 4°C W S H Ierehell
AL B, Td By, B, Al

1) B> By

2) By>By

3) B =B,

(4) T8 Ml B | MR B

ampfa & PT = TS, PQ L QR &R
PQ |ISR 21 3R’ PQ =
QR=80m3ﬁ'{SR=7cm%,F‘ﬁ
FIYT PTVQ & 8% (cm? H) F
g7

9 cm,

P

! s
Qv R
1) 22
©2) 24
3) 25
(4) 26



92. The force between a hollow sphere

93.

‘S’ and a point mass ‘P’ inside it, as
shown 1in figure is :

S

(1) Attractive & Constt.
(2) Repulsive & Constt.

(3) Attractive & depends upon the

location of P w.r.t centre

(4) Zero

'Ratoon  Cropping' 1is gaining

popularity among which of the

following crop cultivators ?

(1) Sugarcane

(2) Millet

(3) Rice

(4) Wheat
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92. FE ¥ @ ogaR % Gigd o ‘S’

93.

IR I & FR T fag geEEE P
% Heg T el 9 8

S

(1) STy ug faa
(2) ufqeser ug +aa

(3) YT Td FE & dUH P H
Refy o fsfx

(4) A

Frfiigd & 8 W wE AT G

e S AN/ § Sgd Al
2, [T waa # ®ed € °

(1) =T

(2) IO

(3) draeT

4 B

P.T.O.



94.

95.

If Samir withdraws Rs. 25,000 from
his bank account by submitting a
self cheque in bank for making
payments and he also gave a
account Payee cheque of Rs. 52,000
issued by his employer in his
favour. Now what happens to the

Balance in his account.

Samir’s bank balance will

increase by Rs. 77,000.

(1)

Samir’s bank balance will

decrease by Rs. 77,000.

@)

Samir’s bank balance will

increase by Rs. 27,000.

3)

Samir’s bank balance will

decrease by Rs. 27,000.

(4)

The vapour density of an organic

compound 1is 30. This organic

compound can be :
(1) Ethanol
(2) Ethanal
(3) Ethanoic acid

(4) Methyl ethanoate
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94. THR YT & fo0 o @ H

95.

U o% BN o 25,000 TEA
farar 8 dm @@ W SR
Fo 52,000 F THST T o4F I F
ST XA ® S {6 Sud e 9 Sd
a0 & &9 § A A1 o 9% @
T g T F R BN 7

1)@k % % ¥ S
%. 77,000 9% T 2|

(2 X & % H EA
%. 77,000 T SR B

B TR 3 & ¥ @A
%. 27,000 S S 2 |

@R 3 & T T
%. 27,000 g A B

T% FEMF TAEE H a9 g9 30
B 9E FEME AP B T ©

(1) g

(2) 3T

(3) THIEH T
(4) Framse TaE



(45) A

96. Which kind of a disease is arthritis ? 96. MRTEed fFE UHR & 9 B ?
(1) Acute disease (1) T CIEa K]
(2) Chronic disease (2) it dH
(3) Infectious disease (3) THIFTT ST
(4) Communicable disease (4) HEMg M

97. Muscles involved in the movement 97. BT & E@ﬁ? ¥ S wrenfEr EREA ERll

of the arm are : AR
(1) Striated (1) Fad
(2) Non striated (2) RfEq
(3) Cardiac (3) & F
(4) Smooth (4) @

98. Who among the following coined 98, g § 9 fpaw S €W

the phrase ‘Jet Stream’? GIERIFIRI e

(1) H. Seilkoph (1) Tdo Hidhh
(2) Wiley Post (2) faeidee

(3) Herodotus (3) BEeH

(4) Sir Gilbert Walker (4) X fEe amg
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99.

100.

Anything we get from the physical
environment to fulfill our needs is

called :

(1) Resource

(2) Agriculture
(3) Domestication

(4) Horticulture

Which atom has the smallest size ?

1) B 2) N

(3) Al (4) P

(46)

99.

100.

A TEgEwaet H QU & & g
i ardreRer | S s Al B ua
W%,?@(WW%:

(1) ReE

(2) Wi
(3) SHE®IA
(4) Bl

fr o] AR (EES) HeE
Bler & 7

1) B @) N

(3) Al (4) P
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Y% & & foTU / FOR ROUGH WORK




10.

11.

12

13.

14.

15.
16.

17.

. T WE ® fom By T 9N fee d o9

# BRI T 9N Yo "M W, 4fE we Orel
W W e e | A B

¥ ® ®© @

af§ U & waET @ B WY S5 B Al SM9sT 99 e
AT AT

. T T T IR F 59 W ® o 4 e e

'\-:.:_ r’ﬁ'ﬁ?ﬁ|

. 94T 9TR SOd OMR STR-USE UY Bl ailthd WY | #UH

TN HMUEE Sfd BN | 9N A= B T wd

I
frmeg & o OMR Sovwss W™ @00 Us

H1 B [N TG W A WiEe U9 ¥ WY | U@ 4R 9w
St - & &S 99 8o el o Heel & |

. arerelt giafea = % 59 SeTEE W T 7 9 U

TH W Wiy aa e 9 e | enelt s T
TR-uEF | PR = & sfolRes o T o

oiten g U STR-UEE @ erdd WarT @Y, aaia
fameit f wfiferfs # (Fow oo qRaer g9 See-uEw @
e | frer @ Rl & vrewy) gV gVsT gRaST
He gumar 78T Fvar @roit

wiien gfiae/ see-uaw &y g wEw @ el wer
wiE W Efent u= # fored |

arerEll T TNIET EI9 S HE H UEEl s © e iR
gww @ ugg-Ardl, gfEm @ owfeRen e @t
& YT @ WEE B o W 9 99ErT # @ SAgA
e £

fréfers &1 99 WM W vee el e mow e
[rer =o) famnd |

o= aeler® o Froes o fem o & fa W o
et T TR A OBTE

SolaT IS/ BYaEI e UNhele 1 SudarT ahid & |

et s # wien gRaer iR See-wEw @ @ A
HET | @ |

e W B WY, el @E /B BieY | gd 8-
TAE Tei-ET B oTET Wi o anerEl et e g
often gi¥aeT w1 o W 9 | |

5.

10.

11.

12.

13.

14.

15.
16.

17.

Answers o questions in answer sheet are to be given
by darkening complete circle using Black ball point pen as
shown below :

@ e 3 @

The answer will be treated wrong, if it is marked, as
civen below

¥ ® ®© @

If vou fill more than one circle it will be treated as a
WIOIE ANLSWET.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OME Answer

Sheet only. Mark vour responses carefully. No whitener
{white fluid) is allowed for changing answers.

« Out of the four alternatives for each quesfion, only one

rircle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not alloved to
be changed.

. The candidafes should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

Mo candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic /Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate nmist hand over the
Answer Sheet to the Inwvigilator in the Room/Hall
Candidates are allowed to take away this Test Booklet
with them.




